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vy Yfeasr W& (10 .w’r ) Question Booklet Serial No.
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r

W?{'ﬂﬁfm 357 15 ¢ candidates o redd
fear maT &1

5 qEH¥ gﬁﬁ?ﬂ §7 @ust qa— &UF-H 5. This question booklet 1s dwided o

WW—F! two sections Section-A und
Section-B.
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0.

@vE-& 7 70 awgfre gyT & frad 6

3 &= 35 uvat &1 3¢ 7 Afrard
21 35 ysal & dfue #1 3t A W
T 35 &1 8 e g geas &
fov 1 o fqwifea &1 g9@7 377 34 &
fou 3usir &09 U OMR 3IF-TIF
5 kv v w8t fawey &1 AR / F
T 97 T g% F1 W g
F WgeAv / A genf / &g /
AGT MfT FT OMR IA¢ % H
TAhT FEAT WAT & =T e
gfromr sraT=r g

Gvg - g 2009 IFT AT & |
gE & fow 2 sw fwifa &, fH
T fel 10 WAl &7 A€ @A
sfard & 1 3% Hafe g9 gvg 7
6 2 Fadta wy fd mad & sdE @
fav s sF Pt & Fam @ st
3 gyt &7 39T A1 AfAard #

frat gan @ geaciide 3Us F 8.

ity quidar afid & |

In Section-A, there are
70 objective type questions out of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carres
1 mark. Darken the circle unth blue
/ black ball pen against the correct

option on OMR Answer Sheet

provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer type questions. [Each

carrying 2 marks, out of which any
10 questions are to be answered.

‘Apart from these, there are 6 long

answer type questions, eachn
carrying § marks. Out of which any

3 questions are to be answered.

Use of any electronic applances is

strictly prohibited.
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@Ug - A / SECTION- A

aﬁﬁﬁml'%jective Type Questions
TvT WEAT 18 70 9% & UAF UyT & Wy 9K [awew Ry v & faad & vE @z 2

397 gRT g7 T W@ Rrwew & oMR e av Rife #¢ 1 fel 35 9T &7 IV 7
35x1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=235
1. ESPIAE S Oos SeAT o R o] %Y 39-Sewdie W 41 #hl € 7

@&y 12 ’ (B) 3
C) 4 (D) 6

What is the coordination number in an atom in hexagonal close packed

structure ?
(A) 12 (B) 3
< 4 (D) 6

2. et f o o AW E 2

(AL~ TEEA-6 B) AEEH-6, 6
(C) ARE-2- -6 (D) A
Caprolactum is the monomer of which of the following ?
(A) Nylon-6 (B) Nylon-6,6
(C) Nylon-2-nylon-6 (D) Terylene

3 FOTETERIE T @ WiRkmehar &idl ¢

a) B) I
(€~ (D) ¥R
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The basicity of orthophosphoric acid is

'(Al two (B) Zero

(€} three (D) four

4. Fr=fefes & @ war w9 a1 g o fe &

(A) 1M TEHE B) 1MGHA

(€) 1 M Bfeaw FREs D) 1M Ty a6
The solution having lowest vapour pressure among the following is
(A) 1 M glucose (B) 1 M sucrose

(C) 1 M NaCl (D) 1 M K,S0,

5. Tafdfea 4 @ #19 saifeuges sgom ¢ 2
(N/ﬁc_"'iﬂﬁ - B) U

© D) TEEH-6,6

Which one of the fol]owiné is a biodegradable polymer ?

(A)  Ccllulose (B)  Polythene

(C) PV.C (D)  Nylon-6,6
6. @W‘mmz gfet § o o &

A) Al (B Mg

(C) K (D) Ba

Dolomite mineral contains

(A) Al (B} Mg
€ K (D) Ba
[118] A 11014-A| Page 4 of 28
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7. YA e B sl & fou 3 i # ome @

(A) TR Hvg-! : B) e Fer-! wFve -l
Q- e efiex ! Aozl (D) HieT Yvg-!
The unit of velocity constant for zero order reaction is
(A) litre second ™! (B) litre mol ™! second ™!
(C)  mol litre™! second™! (D)  mol second !
8.  Ufue iRz & 1upac A &
(A)  uer dee (Bl 3OS FUAIUE
(C) FURS HEAIE (D) et e
The IUPAC name of ethyl acetate is
(A) Ethyl acetate (B) Ethyl ethanoate
(C) Ethyl methanoate (D) Methyl ethanoate

9. e Remiw # 3S 2
(A) ohmcm™! (B) cm

(C) ohm cm (D‘L ~ cm™!

The unit of cell constant is

(A) ohmcm™! (B) cm
(C) ohmcm (D) cm™!
10. UK d ofeerser FeiRmse fufear #Y @A §
(A)  FEIEA U (B) AR
(© A (D), Vfeeitese
[ 118 ] A [11014-A Page 5 of 28
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Anili?c reacts with acetyl chloride to form
(A) Carbylamine (B) Nitrobenzene

(C)  Imine (D)  Acetanilide
1. Fefafaa & wag vae fofag o &

(A) BF, (B) BCl,

(C) B Br, (D) Bl,

Which one of the following is the strongest Lewis acid ?

(A)  BF, (B) BCl,

(C) BBr, D) Bl
12, SIARS &I & 31T 28 &
(A} 19 100 pm (B)- 1¥ 1000 nm

(C) 1% 100 cm Oy 1¥100m

The size of collowdal particle 1s

(A)  1to 100 pm (B) 1 to 1000 nm

(C) 1 to 100 cm (D) 1to 100 m

13, TreifatEa | 9 8 qe &1 F@agTie Iwaan € 2
(Al ~ CH3CH,CH,C (B)  CH4CH,CH,CH,CI
(C)  CH,CH(CH;3)CH,CI (D)  (CHg),CCl

Which of the following compounds has the highest boiling point ?

(A)  CH3CH,CH,CI (B)  CH,CH,CH,CH,CI
(C)  CH3CH(CH5)CH,CI (D)  (CH,),CCl
[118 ] A [11014-A Page 6 of 28
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14, [Ti(H,0),** SF[gaahid uapfa &1 2
(A T YT Foae & R
B) 3 3gfE TR F Fwor
() i rgfia setee™i & wrw
(D)  gfa soaet Y arpafafa % &R

[Ti(H,0), ]3+ is paramagnetic in nature due to

(A) one¢ unpaired electron (B) two unpaired electrons

(C) thrce unpaired electrons (D) no unpaired clectrons
15. [fcifaa A | 8 : 8 IuggHgIH @1 IR0 &
(AL~ KCI (B)  CaF,

(C) CsCl (D) ZnS

Which is the example of 8 : 8 coordination in the following ?

(A)  KCl (B) CaF,
© cscl D)  ZnS

16. HCHO &I 3fshar RMeX ¥ 81 W &1 &

1° 3TTHIEHA | (B)  2° 3fcehiEcd

(C) 3° 3Tchiee (D) ¥

The reaction of HCHO with RMgX leads to the formation of

(a) -

(A)  1° alcohol (B)  2°alcohol
(C) 3¢ alcohol (D) ether
[118 ] A |11014-A Page 7 of 28
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17 Sl 0 & (A 8

A T B Vv
©) o Q. S
Which is colourless in water ?

A) T B Vv
)  cr¥* (D) - Sc’t

18, R gfeR § fr sfifear ¥ A Reris &1 G g E

(A) TUFHH B ‘=d

(C) 3IBR& ¥ (D) T @I |

In Arrhenius cquation, the velocity constant of a rcaction 1s rclated to
(A) Temperature (B) Pressure

(C) Catalyst (D) all of these

19.  od USTA &1 Sele faema & @y Y fear Sran € af 798y St €
(A) Cu (B) CuO
(Q Cu,0 (D) Cu + Cu,0 + CuO

When cthanol is heated with Fehling solution, it gives a precipitate of

(A) Cu (B) CuO

(C)  Cuy0O (D) Cu+ Cu,0 + Cuo
20. Xe V] # fohd YR &1 dy Iufea @ ¥ 2

(A)  GEEaEt (B~ 3-fayw

() ArsiEed O) e

Which type of bond is present in Xe molecule ?

(A) Covalent (B) lon-dipole
(C)  van der Waals (D) Dipole-dipole
[118 ] A [11014-A] Page 8 of 28
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21.  25°C R foas 0-1 M faaa =1 gonfad s=gaq oo g@ aar € 2

Q_—\}/. CaCl, (B) KCl

(€ T (D) A

AL 25°C, the highest osmotic pressure is cxﬁcctcd by 0-1 M solution of
(A)  CaCl, | B) Kcl

(C)  glucose ~ - (D)  urea

22, T Ao g Ao & 2

HNOQ

CEHSNHQ —_— 2 A
() e THE B) W oHH
() e grATEe (D)- ufue 3tehiEe

What is the product A in the following reaction ?

HNO,

C,HgNH, A
(A)  Ethylamine (B) Methylamine
(C) Ethyl cyanide (D) Ethyl alcohol

23, 3TEd GROM & Y9 16 U ST F AT G FH A T @

AL~ TR B) Wifeam

() e (D) TR

Other than oxygen in Group 16 of the periodic table, the element found 1s
(A) Sulphur" (B) Sodium

(C) Iron (D) Nitrogen

24, W 1 QT -3 FA W I el €

(A T (B) WG
(C) To[hY UE AR &l (D) GFE
[118 ] A [11014-A Page O of 28
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The complete hydrolysis of starch gives

(A} Glucose (1)

(C) Both glucose and fructose (D)
25, WaiS ¥ waEive e e

N s (B)

() O (D} -~

Fructose

Sucrosc

Al

Fe

The most abundant clement in the carth's crust is

l.‘\} Sl : [B]

26. UH YT @WE: w7 & T4

(A) L HFFIT © & (B)
(C) \G* YT € (D)

The cell reaction is spontancous when

[AJ L reducton is positive [B]
(C) AG is positive (D)

7 faret sfufwar 1 wpd wEHEE 39T @

CH, -0~ CH(CH,4), + HI——
(AJ/,-ﬂ CH,l +(CH,),CHOH (B)

(C)  ICH,OCH(CHy), (D)

Al

Fe

Nasim

AG BT &

=]

E reduction 'S negatve

@ .
AG 1S negalive

CH,OH + (CH,), CHI

1

11014-A
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The major organic product of the following reaction 18

CH, - O - CH(CH,), + Hl—>

(A) CH,l + (CH,),CHOH (1) CH,OH + (CH, ), CHI

(C)  ICH,OCH(CH,), (D) CHy =0 - CHCH,),
1

28.  Ni(CO), ¥ Ni & iferdientvr ded &

(AL O B) 1
< 2 Dy 4
The oxidation number of Ni in Ni(CO), is

(A) 0 : (B) 1
€y 2 D)y 4

ho. g sfuiee § g ¥ U7 3 Wee W R q@ g 9 @ #
(A) TEEHE T B) R &=E I

(€ Tocg I (D) AFSTEACH T

In physical adsorption gas molecules are bounded on the solid surface ot
(A) chemical force (B) electrostatic force

(C) gravitational force (D) van der Waals force

30. ARAA-6,6 €

(M/"ﬁ%m (B)  WICTURR

©) uifereriA (D)  uiiciiame

Nylon-6, 6 is

(A) polyamide (B) polyester

(C) polystyrene (D) polyvinyl
[118 ] A [11014-A Page 11 of 28
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31.  Fe(CO)g @

(A)  ENR AfiE (B)— Tieet Afirh

(€ Tz waw D) T U HE AR
Fe(CO)g is

(A}  simple compound (B) complex compound
(C) double salt (D)  none of these

32. A+B«>3ﬂﬁé€ﬁﬂﬂﬁWWr=K|A}[B]WWmW%Iﬂ%Bﬁ

e A o e ar arfifsear & wife g

(A) 2 B 1
() o0 (D) A=A

For reaction A + B > Product, the rate of reaction is expressed by r= K[ A ]| B|.
If B is taken in large excess, the order of reaction is

(A) 2 (B) 1

(C) 0 (D) indefinite

33 goEe e whaengd wfafEar § S H — OH W §
(A) m-FSEh (B)_- o,p-ﬁhﬁ
) p-Aae D) o fRe

— OH group of phenol in electrophilic substitution reaction is

(A) m-dirccting (B) o,p-directing

(C) p-dirccting (D) o-directing

- | 118 ] A [11014-A Page 12 of 28
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39. Qﬁwﬁ-—rmwrﬁqmm%

(A) TSR ferg @ By~ fg-zqt ferit=z #1
© B3R s @ (D) 399 4 F13 3
Ethylenc diamine is an example of

(A) monodentate ligand (B) bidentate ligand
(C)  tridentate ligand ’ (D)  nonc of these

35. RD Cu(s)+ 2Ag* (ag) - Cu?*(ag) + 2Ag (s) AYH & 3fg

Q) E cell =(+)ve (B)  E'cell = (-)ve
(C) Eceli=0 (D)  E'cell =

The rcaction Cu(s)+ 2Ag" (ag) —» Cu2+{aq) + 2Ag|(s) is fcasible if

(A} E cell =(+)ve B)  E’cell = (-)ve
(C) Ecell=0 D) Ecell = w

36. f=fefaa 4 @ o 2 o #1 )kEo g 2
(A)  CgHgNHCH, (B) - (CH3CH,),NCH;
(C)  CH,4(CH,),NH, (D)  39H W &1E F&7

Which one of the following is an cxample of tertiary amine ?

(A)  C4H NHCH, (B)  (CH,CH,),NCH,

(C) CH3{CH2)2NH2 (D) None of these

37. i faerq § fguas smm & gresra snget @) o sifee, af saw wo

$Hi% 25 €

(A} 3-42 BM (B) 592 BM

©) 675 BM | (D) 3 A F13 T
[118 ] A [11014-A Page 13 of 28
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Calculate the magnetic moment of a divalent ion in aqucous solution if its

atomic number is 25 ;
(A) 3-42 BM (B) 592 BM
(C) 675 BM (D) none of these

38. sRd = 7 @ frge sermr ¥ 2
(A) 3 F1 T ° gftedor (B) &9 &1 1@ gfzaquoT

(C) & I 3[4 H ufteigur (D) 3 H Fa § TR

Cloud is an example of
(A) solid dispersed in gas (B)  liquid dispersed in gas

(C) liquid dispersed in solid (D) solid dispersed in liquid
39. f9 d @ HF-91 UHR-THd & 2

(A) CF,Cl, (B) CH,CHCIBr

(C) CH,Cl, (D) CH,CHCICH,

Which onc is optically active in the following ?

(A)  CF,Cl, (B)  CH,CHCIBr

(C) CH,CL (D)  CH,CHCICH,
40.  XcF, T otagi @ 3rfd WSl €

(A) 1 (B) 2

€y 3 Dy O

The number of unpaired clectrons in XeF, s

A) 1 B 2
(C) 3 (D) 0

| 118 ] A |11014-A ' Page 14 of 28
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41.  Ge (SRAMEN) U] &t 98 A 10 ) A Deg w0 275 0 B
(A)  n-¥HR H AgAeTH B)  p-UER F FGATAF

(€)  fergerint D) fe=srd

On doping Ge (germanium) metal with a little of In (Indium) we get
(A) n-type semiconductor (B)  p-type semiconductor

(C) insulator (D) rectifier

42. VA B GE T ®

CO
S0, co 7
CO NI i vr
(C) E:E -/ (D) FH W H1E Tl
SO,
The correct structure of Saccharin is

CO CoO
w G shmos B L0
S0, ' co

CO <
(C) E:I / NH (D) none of these
SO,

43. O T A @) Geper &Ral gl €

(A)  52% (B) 68%

(C)  74% (D) ¥ § ®i§ @

Packing cfficiency is simple cubic lattice is

(A) 52% (B) 68%

(C) 74% (D) none of these
[118 ] A [11014-A Page 15 of 28
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aq  waad faeEa N anE el @

(A) TR A (@) HEEd

(C) (D) ¥ d HI3 T
Isotonic solutions have cqual

(A)  molar concentration (B)  molality

(C) normality (D) none of these

5. @A IR F TGH B qU o FeRNE W H AYA-HAIGEA FA W T3

Y 9rd 3q1E g

(A) BT (B) 3
(C) BRI HFES (D) HoH STRIATFIIEE

On clectrolysis of dilute sulphuric acid using platinum electrodes, the product

formed at anodc will be

(A) Hydrogen (B) Oxygen
(C) Hydrogen sulphide (D) Sulphur dioxide
46.  CHCIl, +Cly - CCl, + HCl aifufmar § 3 K = [CHCL,|(CL, )/ 2 &, df afvfear =
.~ Wﬁ
(A) I (B) 2
> D) I
) 3 )
2
In the reaction CHCI, +Cl, = CCl, + HCI, rate K= lCHC13llCL_,]”2 then orde:
of the reaction will be
(A} 1 ' (B) 2
3 (D) Zero
© 3
l 1181A 11014-A Page 10 of 28
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47, N I B B

(A)  TH FAEH (B) U FARIZZZ
(C) U FHt aned (D) U ARZHAT qoh 217
A biological catalyst is
(A) an enzyme (B) a carbohydrate
(€ an amino acid (D)  a nitrogenous base
48, Nacwﬁmqwmﬁn%amimfwﬁémﬁm% ?
(A)  Ag (B) Ti
(C)  Zn (D) Sn
NaCN solution is used in the extraction of which metal ?
(A)  Ag (B) Ti
(C) 2n D) Sn
49. 15225?22p%3s23p* AT e P AT FT & 2
(A) EFFﬁ'ﬁT{ (B) e
(C) |eH (D) wafgEn
Which element has electronic configuration 1522522;)6 3323194 ?
(A)  Chlorine (B)  Oxygen
(C) Sulphur (D) Potassium
50. Y MHE
(A}  COCl, (B)  C)oHsCIN,
(©) PH3 (D) CHC]3
Tear gas is
(a)  cocl, B) - CHsCIN,
(C) PH, (D) CHCl,
[118 ] A [11014-A Page 17 of 28
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!ﬁw;varéiﬁqqurﬂﬁmﬁ&ffﬁqaw‘mhmmwﬁu%

51,
(n)  eiferan B) e
©  3mia (D) 3 @ HE A

Gas uscd in filling balloons for mctcorological observations 1s

(A) Hehum (B) Ncon

(C) Argon (D) nonc of these

52, HR &GV & GA ®

(A)  KCLMgCl,.6H,0 (B)  FeSO,.(NH4),S0,.6H0
(C)  K,S0,.AL,(S0,); 24H,0 (D) ¥ | HIE &I

The formula of Mohr's salt is

(A)  KClL.MgCl,.6H,0 (B)  FeS0,.(NH,),S0,.6H,0
(C) K,S04.AL,(SO,4)3 24H,0 (D) none of these

53 @A @1 HIHA SOEelE [aaTd &
A (n=2) " - 1s%p° B)  (n-2f%n-1)d% ns?

€  (n-2)"n-1d""ns? D) (n-2)d%(n - 1)/ 4np

The general electronic configuration of lanthamde 1s

A (-2 - 1)s%p® B)  (n-2s" 0 - 1)d% g2
€  (n-2)"n-1d"%ns? D) (n-2)d N n -1y fiepp®
[ 118 ] A [11014-A Page 18 of 28
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s4. T sl w1 vqw 3

CHCl3 + 0) —2 + HCI

g

(A)  co, (B) Cl,

(€)  cocl, (O) ¥ & FI T
The main product of the reaction

cicl, s o, 8t + HCI

1S

(A)  co, B) Cl

(C) cocl, (D) none of thesc

55.  HO-CH,-CH,-OH % 9@ LUP.A.C. 99 &

(A)  99F-1, 3-Hie (B) WIUH-1, 2-BEHT

(C)  3U-1, 2-BEHTA (D) 3 ¥ FI% =&

The correct LU.P.A.C. namc of HO - CH, - CH, - OH is

(A) propan-1,3-ol (B) propan-1,2-diol

(C) cthane-1,2-diol ' (D) none of these
56. AifoeERg ATHRIET KON ¥ 3fwar s ar &

(A) CgH;CH(OH)CN (B) C6H5CH(OH]COC6H5

(C)  CxHsCH(OH)COOH (D)  C4HsCH(OH)CH(OH)CH,

Benzaldehyde reacts with alcoholic KCN to give

(A)  CgH CH(OH)CN (B)  CgHCH(OH)COC H,

(C) CﬁHSCH(OH]COOH (D) (',‘61-15Cl—l[(f)H}CI—I(()I-I]HCE)I-I5
[118 ]A |[11014-A Page 19 of 28
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W ¥ wiE IAE §
57.  sfafwa @ + Cli3=C=Cl A IR + HCI A L (C]

(A) TGN B)  A=TEel FANEE
(C)  a~TeT FARIIS - (D) 39 @ i3 AE
i
In rcaction @ + CHli4—C=ClI ..A("_1> ......... + HCI, the main product 1s
(A) Acclophcnone (B) Benzyl chloride
(C) Benzal chloride (D) nonc of tHese

3 : > 7
S8.  CH,NH, , (CH,),NH, (CHy),N 3R C,H NH, ¥ i pK, 1 A 8 & -

(A)  CH;NH, ' (B)  (CH,),NH
(C)  (CHy)3N (D)  C,HgNH,

Which onc has the greatest value of pK, in CH;NH, , (CH,4),NH, (CHj3);N and

C,H-NH,?
(A)  CH;NH, (B)  (CH,),NH
(C)  (CH;3)3N (D)  C,HgNH,

59 Q@RE Ad-3UHeA W odl &

(A) U (B) UHFA! 317

©) st (D)  3TCHRA

Peptide on hydrolysis gives

(A) Amine (B) Amino acid

(C)  Ammonia (D)  Alcohol,
[ 118 ] A [11014-A Page 20 of 28
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' 60. feAte Fe o ferares oy 3iluferan AeheZe A 2 7

(A) Qﬁ‘lff(%;‘:'g]—"qg (B) ofazer

(©)  wrifegens (D) FAAA

With which of the following phenol reacts to form bakelite ?

(A) Acctaldchyde (B) Acctal

(C) I“’{)rmuldchydc (D) Chlorobenzene
61. FARMZIS &7 Iuan M= - Ry o fopar st & 2

(A) Tl (B) 2HERIES

(€} TeRrI (D) SEHATEE

Chloromycctin is used in the treatment of which of the following discases ?
(A) Malaria (B) Typhoid
(C) Cholera (D) Tuberculosis

62. WIS Uk T@EHe diftes & fger sqam et § f6g O & 3o §

ST 8 2
(A) S (B) AIDS
(C) HHEfE® dER (D) FH F &3 &

Tranquilizers arc chemical substances which are used in the treatment of which

of the foliowing diseascs ?
(B) AIDS

(A) Cancer
(D)  None of these

(C) Mental discases

63, FyefefEd o F19 999 &1 3[R § ?
(A) TR (B) TEEA
(S (D) el

Which onc of the following is an example of emulsion ?
(B) Butter
(D) Jelly

age 21 of 28
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O4.

. d{ B zrmat £
L op % fon aifafear a4+ =4

athatear 34
1A B 2 diA]
{ . o —
U T B T
d(A]
{| A D
© 5% T

d|B] is equal to
dt

d[A]
3 d|A _2

(A) *E—lﬁ—] (B) 3 dt
. 1d(A] D p LAl

65
044 v FEE| Fe T G vEE SO B € 7
(A)  Ccd* (B) Ag”
©  Fe* D) ¥ A W A
The standard reduction potentials (E') of cd?*,Ag* and Fe?* are - 0-40 .
+ 0-80 V and — 0-44 V respectively. Which is the strongest reducing agent ?
(a)  cd* (B) Ag
(C) Fe?* (D) none of these
66. 2-5 UM UHHIgEH A (CH,COOH) & 75 T s ¥ faeias = Wieterar
(A) 0-556 mol kg ! (B) 556 mol kg"l
(C) 556 molkg'! (D) 556 mol kg-!
The molality of a solution of 2-5 gram ethanoic acid (CH,COOH) dissolved
75 gram benzene 18
(A} 0-556 mol kg'! Bl 556 mol ke
(C) 556 mol kg! D) 556 mol -
[118 ] A [11014-A Page 22 of 28
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67. TR F olie epray IR0 & 7
) HQ() (B3) NaCl
© cro, o o,
Which one of the following is an cxample of ferromagnetism ?
W HO (B)  NaCl
(C) CrO, D) o,
68. O AIHARTES FT GE amEitiE am 3
Ay (B) ORI
©  F D A
The COrrc‘cl commercial name of carbon tetrachloride is
(A)  pyrene (B)  pyrrole
(C) benzene (D) none of these
69 3TIERI T IURYd TGl HI Hel ST §
(A)  HIH (B)  IHUE
(C)  TMeis . (D) 3™ | HIE &
The impuritics present in ores are called
(A) slag (B)  gangue
(C) flux (D)  none of these
0 fam A @ few ama & T g ® dwE & 2
y +
(A) Ni%* (B) Cu
2+
c) s (D)  Zn
which of the following ions is expected to be coloured ?
A)  Ni¥! (B) Cu
.2
©  sc (®)  Zn™"
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W¥T WEaT 1 ® 20 a9 3w 1 e 10 wvAl & I

WUE - ¥ /| SECTION - B

Y IAY VYT / Short Answer Type Questions

é:,gﬁﬁ';*’ﬁﬂ_’ZH

Fraffea § : 10x2=20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each questior
carries 2 marks : 10x 2=20

1, ViCH QAN R® R 7 2
What is Schottky defect ?

2. Frfefea aftads 4 g fma s gea ¥ 2 -
FARITYT | 2 |
How can the following conversion be carried out ?

Chloroethane.to Butane.
3. HyPO, & TG R E ? 2
-

What is the structure of H,PO, ?

4. TOEI % Tl G H AT T G % 9 S} w0 4 @ ¥ >
Why is the vapour pressure of aqueous solution of glucose lower than that of
water ?

5. @RI et FJIE 7

— 2
What is food preservative ?

i )

6, W 8 5
What is roasting ?

[ 118]A 11014-A | Page 24 of 28
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10.

12.

14,

—

15,

U~TRH 38RV 91 § - IR & e

What is ¢nzyme cat

CEOY 2
i alysis p Explain with cxample.

| %-maﬁmqﬁm%immnﬁfm1 ’ 2
Aniline does not undergo Friedel-Crafts reaction. Give reason.
TS T T ko ?
What is lanthanide contraction ?
T Fife sl w1 am Reriw 200 T - & W W e A
freTed | :
The rate constant for a first order reaction is 200 sec-!. Calculate its half-life.
TSRS Sy Y S T §
What do you mean by glycosidic linkage ?
feq 4 @Rt & [upAC A fo

(i [CoCl, (NH,),]Cl

J

hJ

(i)  Ks[Fe (CN) ]

Write the IUPAC names of the following compounds :

(i)  [CoCly(NH,), ] Cl
(i) K| Fe (CN) |

el areer @ frreen T A a9 4 oftem W

How will you convert acctic acid into methylamine ?

e NG & TeHE U FEaYATR 9ga B § | wHE |
Noble gascs has very low melting and boiling points. Discuss.

1 A9 fof & 97 H HiH ok # faeaa @ gwd £ )

)

ka

o

Can you store copper sulphate solution in a zinc pot ?
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16.  Fafefea ol o sowife R i

(1) Sc(Z=21)

m) Cu(z=29)

Write the clectronic configuration of the following elements :
(1) Sc(Z=21)

(i) Cu(z=29)

o ) . . )

17, foeeer ok st o o @ w53 ‘
Differentiate between methanol and ethanol.

18.  FHT znO (3W) # T *F g7 de T4 & AL ? :

Why does white ZnO (solid) become yellow on heating ?

19. o T m-WHIAAIGE &I To 1§ p SHFARNG=TA 1 Torish U faoiadl I=9 &7 =
faarem wifaw | :
p-dichlorobenzence has higher melting point and solubility than those of o- a--

m-isomers. Discuss. https://www.bsebstudy.com
20. HEH U% YEA HEEERS B aXE 1w wxat ¥ o

Why does ozone act as a powerful oxidising agent ?

e Faa Wy / Long Answer Type Questions

IxXS5=13
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questio .
stions. Eacn

question carries 5 marks :

IX3=1!>

21. a&ﬁuﬁzﬁmmﬁvﬁz%ﬂmmmmmlmsoﬁaﬁﬁﬁ
FATE 7 )

Qéﬁ-_‘

How does acidic potassium Permangunate re;

lCt wit i »
() SO, ? h (i) Ferrous sulphate and

et
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22,
(a) fq::{f-ﬁﬁaﬁ Tl i
T e g I ) f
© W IET unh g |
w Ch”:\('ll{) — v Wik P
HCN?
(ii) TR .
H,C- CHy+Br, 4
(11i) (:‘I on A with
COOH  cone. 1,80,
B TR s '
o . mmw,ﬂaqﬁmaﬁm%; 2
omplet . :
. ¢ cach Synthesis by BIVINg missing products
() Cf’HS(:Ho—-H_(m_+
(i)  H,C=CH,+B ,—a
(iii) @ COOH A with
COOH  conc. 11,80,
(b) Explain why propanol has higher boiling point than that of butane.
3 :
23, (a) %ﬂﬂ%ﬁmwwﬁwﬂmaﬁmﬁmx 3
b - - f R
(b) ﬁﬂ?ﬁ“ﬁf@ﬁﬁpwwnm%mamﬁﬁmﬁm: 1+ 1
) In H I Ge
i) B3N s;
(a) State Henry's law and mention some of its important applications.
(b) Classify each of the following as being either p-type or n-type
scmiconductor :
(i) Ge doped with In
(ii) Si doped with B
24. (a)  NiCl, " @ saifafd s A
(b)  [CriNH,)|** 3Fasia § vl INI(CN), |*~ wfiigrasig &1 &t 2 23
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- oy 12—
(a) Give the geometry of [NiCL, | .

- ) - is diamagnetic. Why -
(b)  [Cr(NH,),|”" is paramagnctic while [Ni(CN), ]~ 18

2+ 3
25,  HIRIGE RN & ? TABT AMHIIT HL
What arc carbohydrates ? Classily them.

26.  (a) Wﬁmﬁﬁmﬁwa@mﬁwwwi
i) faeer Toiaeiel &AM AgNO, 1 STl faera
i) @i ol & a AgNO, T ST faerd |
(i) e 3eEziel & |WY CcuCl, T Feirg faeraa |
()  waE wifz @ slfE @ aig-arg 10 ¥R &1 HfuiEa® F A G -

1 gqm w® 9A ° Fa q9g o 2 o .

16
(a) Write the products of electrolysis in each of the following :
(1) An aqucous solution of AgNO, with silver electrodes.

(11) An aqucous solution of AgNO, with platinum electrodes.
(iiiy  An aqueous solution of CuCl, with platinum electrodes.
(b) The half-life period for a first order reaction is 10 sec. How much time

it take to reduce the initial concentration of its Tlﬁ_th value ?
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